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Profit & Loss

1) A man buys an article for Rs. 27.50 and
sells it for Rs 28.60. Find his gain percent
a) 1% b) 2%

c) 3% d) 4%

2) ATV is purchased at Rs. 5000 and sold at
Rs. 4000, find the lost percent.

a) 10% b) 20%

c) 25% d) 28%

3) A person incurs a loss of 5% be selling a
watch for Rs. 1140. At what price should
the watch be sold to earn 5% profit.

a) Rs.1200 b) Rs.1230

c) Rs.1260 d) Rs.1290

4) If the cost price is 25% of selling price.
Then what is the profit percent.

a) 150% b) 200%

c) 300% d) 350%

5) A man buys an item at Rs. 1200 and sells
it at the loss of 20 percent. Then what is the
selling price of that item

a) Rs. 660 b) Rs.760

c) Rs. 860 d) Rs.960

6) Sahil purchased a machine at Rs 10000,
then got it repaired at Rs 5000, then gave
its transportation charges Rs 1000. Then he
sold it with 50% of profit. At what price he
actually sold it.

a) Rs. 22000 b) Rs. 24000

c) Rs. 26000 d) Rs. 28000

7) A shopkeeper expects a gain of 45/2 %
on his C.P. If his sale was Rs. 392, then find

his profit.
a) Rs.70 b) Rs.72
c) Rs. 74 d) Rs.76

8) A plot is sold for Rs. 18,700 with a loss of
15%. At what price it should be sold to get

profit of 15%.
a) Rs 25300 b) Rs 22300
c) Rs 24300 d) Rs 21300

9) . Ina certain store, the profit is 320% of
the cost. If the cost.increases by.25% but
the selling price remains constant,
approximately what percentage of the
selling price is the profit

a) 70% b) 80%

c) 90% d) None of above

10) If the cost price of 12 items is equal to
the selling price of 16 items, the loss

percent is
a) 20% b) 25%
c) 30% d) 35%

11) A fruit seller sells mangoes at the rate
of Rs.9 per kg and thereby loses 20%. At
what price per kg, he should have sold
them to make a profit of 5%

a) Rs 8.81 b) Rs9.81 Pa
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c) Rs10.81 d) Rs11.81

12) A producer of tea blends two varieties
of tea from two tea gardens one costing Rs
18 per kg and another Rs 20 per kg in the
ratio 5 : 3. If he sells the blended variety at
Rs 21 per kg, then his gain percent is

a) 12% b) 13%

c) 14% d) 15%

13) A shopkeeper sold an article for Rs
2564.36. Approximately what was his profit
percent if the cost price of the article was
Rs 2400
a) 4%
c) 6%

b) 5%
d) 7%

14) The cash difference between the selling
prices of an article at a profit of 4% and 6%
is Rs 3. The ratio of two selling prices is

a) 18%
c) 22%

b) 20%
d) 24%

17) Which among following options are
true relating to this question :

Ram sold a card and makes 20% profit out
of it, how much profit he actually earned ?
1. Difference between cost price of card
and selling price of card is Rs. 40.

2. Selling price of card is 120% of cost price
of card.

a) Either 1 and 2 are sufficient to answer
b) Either 1 and 2 are not sufficient to
answer

c) 1is sufficient to answer alone, 2 is not
sufficient to answer

d) 2 is sufficient to answer alone, 1 is not
sufficient to answer

18) Alfred buys an old scooter for Rs. 4700

a) 51:52 b) 52:53 and spends Rs. 800 on its repairs. If he sells

c) 53:54 d) 54:55 the scooter for Rs. 5800, his gain percent is:
a) 4% b) 5%

15) A pair of articles was bought for Rs. 0 11 d) 10%

37.40 at a discount of 15%. What must be
the marked price of each of the articles ?

19) The cost price of 20 articles is the same

a) Rs15 b) Rs20 as the selling price of x articles. If the profit
c) Rs 22 d) Rs25 is 25%, then the value of x is:

a) 15 b) 16
16) A shopkeeper fixes the marked price of c) 18 d) 25

an item 35% above its cost price. The
percentage of discount allowed to gain 8%
is

Pa
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Profit & Loss

20) In a certain store, the profit is 320% of
the cost. If the cost increases by 25% but
the selling price remains constant,
approximately what percentage of the
selling price is the profit?

a) 30% b) 70%

c) 100% d) 250%

21) A vendor bought toffees at 6 for a
rupee. How many for a rupee must he sell
to gain 20%?
a) 3
c) 5

b) 4
d) 6

22) A shopkeeper expects a gain of 22.5%
on his cost price. If in a week, his sale was
of Rs. 392, what was his profit?

a) Rs. 18.20 b) Rs.70

c) Rs. 72 d) Rs.88.25

23) A man buys a cycle for Rs. 1400 and
sells it at a loss of 15%. What is the selling
price of the cycle?
a) Rs. 1090
c) Rs. 1190

b) Rs. 1160
d) Rs.1202

24) Sam purchased 20 dozens of toys at the
rate of Rs. 375 per dozen. He sold each one
of them at the rate of Rs. 33. What was his
percentage profit?
a) 3.5 b) 4.5
c) 5.6 d) 6.5

25) On selling 17 balls at Rs. 720, there is a
loss equal to the cost price of 5 balls. The
cost price of a ball is:

a) Rs. 45 b) Rs.50

c) Rs. 55 d) Rs.60

26) When a plot is sold for Rs. 18,700, the
owner loses 15%. At what price must that
plot be sold in order to gain 15%?

a) Rs. 21,000 b) Rs. 22,500

c) Rs. 25,300 d) Rs. 25,800

27) A trader mixes 26 kg of rice at Rs. 20
per kg-with-30 kg of rice of other variety at
Rs. 36 per kg and sells the mixture at Rs. 30
perkg. His profit percent is:

No profit, no loss
a) 5%

c) 10%

b) 8%
d) None of these

28) If books bought at prices ranging from
Rs. 200 to Rs. 350 are sold at prices ranging
from Rs. 300 to Rs. 425, what is the greatest
possible profit that might be made in
selling eight books ?

a) 1800 b) 600

c) 1200 d) 1801

29) A man buys an article for Rs. 27.50 and
sells it for Rs 28.60. Find his gain percent
a) 1% b) 2%
c) 3% d) 4%
Pa
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Profit & Loss

30) ATV is purchased at Rs. 5000 and sold
at Rs. 4000, find the lost percent.

a) 28% b) 10%

c) 20% d) 25%

31) A farmer bought toffees at 6 for a
rupee. How many for a rupee must he sell
to gain 20%?
a) 5
c) 7

b) 6
d) 2

32) A person incurs a loss of 5% be selling a
watch for Rs. 1140. At what price should
the watch be sold to earn 5% profit:

a) 1200 b) 1260

c) 1280 d) 1240

33) If the cost price is 25% of selling price.
Then what is the profit percent.

a) 150% b) 200%

c) 300% d) 400%

34) A man buys an item at Rs. 1200 and
sells it at the loss of 20 percent. Then what
is the selling price of that item.

a) 860 b) 960

c) 660 d) 460

35) If the cost price of 12 items is equal to
the selling price of 16 items, the loss

percent is
a) 22% b) 23%
c) 24% d) 25%

36) A producer of tea blends two varieties
of tea from two tea gardens one costing Rs
18 per kg and another Rs 20 per kg in the
ratio 5 : 3. If he sells the blended variety at
Rs 21 per kg, then his gain percent is

a) 10% b) 11%

c) 12% d) 13%

37) A shopkeeper fixes the marked price of
an item 35% above its cost price. The
percentage of discount allowed to gain 8%
is

a) 20%
c) 27%

b) 25%
d) 30%

38) A man had 100 kgs of sugar, part of
which he sold at 7% profit and rest at 17%
profit. He gained 10% on the whole. How
much did he sell at 7% profit ?

a) 70kg b) 30kg

c) 35 kg d) 65kg

39) A person bought two articles A and B
for Rs.5,000. He sold A at 20% profit and B
at 10% loss. He thus gained 2% on his
outlay. The cost price of A was
a) Rs.3,500 b) Rs.2,000
c) Rs.2,500 d) Rs.3,000

40) A shopkeeper purchased a TV for
Rs.2,000 and a radio for Rs.750. He sells the
Pa
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TV at a profit of 20% and the radio at a loss
of 5%. The total loss or gain is

a) Loss Rs.300

b) Loss Rs.332

¢) Gain Rs.362.50

d) Gain Rs.352.50
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